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senflsn el sEliLser

QurgISEGMILILS6T

Qurgs LHLIGUI ST : 90
@hg LEHNIH eopulley o 6Tem ellMLSET YMETSGEID UTLLILSSSD HMILD
&ie| UsS55608 IpLIenLILTsHs Cl&Teuor(heTems).

@is wHIIH Yopuls I HeTarens ey  LrHn  (Weomudled
LomesOTeUIT &6 FTILTET Sii6| SeuoTip (HHESTHID SSHS LRIS_H (pemmulled (Lpwp
&GS ET auprIsSILL. Gaustor(HiLd.

oo el sEpsE S0 2 6Tem Y SGMILILSmET  SeusT(LpL6T  LisTUDM
GeuetoT(HILD.

(GSETmSET ST  Samsdler  Siellemer  sflurss  sevor(herer
LOTEOOTEUTSHET  LITSHSSLILLTLN  @QIHULSHS&TS, (HedHTmssfler wdlifaner
2 6TeML & [Hemeuger auemTUNISSLILL (DeTemeor. 6T6arGel, [HemeugeT SHeUMTS
@msE0 L&l €& ENTRIS 6T giflwurs (TS LI Lg (B 60T
(eSS EHSsTEr  wluster  9uiGurg  eupmisiuL  Geustor(hLd.
@emer * @MU Lme @msasUul(Heterer Hlemuser SunTs BHHE SESHS
BSSIhissT sflure sl @@minfler Heme wSHliGlue (2%) i @)minsr,
(555T5HNEG 1 wHiGusr eyprsin  Gousr(l.  (SHSETmIST

TYSTOSSTE LSIIGILISTT GMMSSH &nl TS,

&S (1), ued (), ugd (V) @ 2 arar ellarmalnhamsr allenLG6T (LPLYEISID
gflure @mEsTo Chrewrs W wSHIGUETST aupRislLL Gasr(hHi.
flemeugsfley saum @Mm&GL ussHo W HGw (stage marks) Hlemeo
L&lGustTseT HevflSseflurs auprisLuL. Galssor(HILD.

foon / s@miy sowwllermsy  srSUUL(HsTs  efemLser W HIGL  LSHNTH
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. ermysoLw eflemLullsar GPuih wohmid gyser eflenL stpSuflmindser wl HiGw 1

w&GlusT GamhissiuL. Gouer(HiL.

2. aflsmL GHUH jevevg allemL g dlunimmled sTESHemID 66T SeumTs: @\ mLILN60T,
150G 0 wEHLGLeTT L HiGW auprRisILL Calssor(HLd.
Code A Code B
Q.No | Option Answer Q.No | Option Answer
1
1. 1 1. FF 10700
(@) =) 10100
F(x) eteorugy) Gloly 1
2. @) LSWILEDLILI (SEMMILLD &L 2. () (x + 1)2 dx
A 6T60TLIG) n U6 & UL|6TIL_LLI
1 @G E5I7 Si6m LHMILD 2
3 (=) Gro 3 | (@ LG @G Hemeued)
6T6vfleL Adj(14) = 1"Adj (4)
1
4. F — 4. 24
=) 10100 (2p)
s 2
5. T — 5. —
(") - @ »
6. (Q'D 19 6. (lT) y=c¢c e_fp dx
7. | () — 7. | () x? +y?
8. (31) x?+y? 8. (91) 19
9. (@) 9 9. (@) cotx
10. | (&) 0 10. | (&) GLpS 60
11. () _3 11. @) F( ) eteorug @LE]U_I L[l?‘_f;]LlLlﬁ'ﬁ)Lu_l
GEOMILLD &Ly
12. (/) x?+y’+6x+8y+16=0 | 12, (@) 9
13. (FF) y=ce Jpdx 13 3) 0
2 —q
14. — 14. —
@) - (o) -
15. (91) (10) 15. (r) X +y*+6x+8y+16=0
i3
16. (o) 5 16. (<) 1
17. | (@) Qs dsened 17. | (@) %
A 6T6OTLIG) n UIl6M & UL|6BIL_LLI
@b FSI7 Sienil LOHOILD 2
18, | (o) | S Smege | 18 | (@) (1,0)
6T60fl6L Adj(14) = 1"Adj (A).
19. @) cot x 19. () %
20. (<) 24 20. (/) -3




& s @iy : ugd — Il ugd -l & ugd — IV

@ GOHIELL Lgflmen SomTs @I(HhS SMmETE SMihS (Phensi auflser
sflurs @ modlsr (Heme wHlGUe 15@ Guars @HsEL uTWE) IHS
aflsensE oifiu  wHiGummems 9Es Hemaseflu w6l mHS
Nflgs6 (stage mark) Qar(hss GCestm(Hin. HmasEifiu ) WEIIGILIEGTsnEmTILLD
(P(LEOLOILITS LDNISS6D Sn LS.

ugs — Il
Q.NO CONTENT MARKS
21, z=x+1iy,z=x—1y 1
z+z z—Z
= —— | pmmILI = — 1
Re(2) 5 LopmILd Im(2) v
22. 2 + /3 eresTug) LHOmT (T, eLpevld 1
x2—4x+1=0 1
23 tany = \/§ 1
_T 1
Y73
d
24. £=3x2—6x+1=1 1
Capemeuwmenr Lsitarflger (0, —2) wmmid (2, —4) 1
25. df = (2x + 3) dx 1
df = 0.7 1
dy _
26. — = Ae* — Be™* 1
dx
d?y 1
a2 V=0
d dx
27, L= 1
J1—-y% VJ1—x?
sin"'y =sin"lx +c¢ 1
1
28. = — 2
k 30
29. || swsumiiiy ormlufler Ldliser o|1|2]|3 5
SemeudLp LGSl Lisieiflser 113|831
30. 3(0)+6(0)+2(0)+7| 1
V@O @72 |
gudliysraflledl@mng  3x + 6y +2z+7=0 66 1
SHSM@G 2-6mem Gmeneve| 1.




ugd -l

Q. NO CONTENT MARKS
1 2 -1
31. 3 -1 2|=-8#0 2
1 -2 3
I|ewfluflesr Hiid = 3 1
Note : Any other third order minor which does not vanish. One
can do by rank Method
=3 D) 2
x=-1y=4 1
33. zy=1+4+1i,z,=10—-8i,z; =11 + 61
|z, — z,| = V162 1
|23 — z,| = V125 1
7186 Z3 I8 gmaremwuile @)msSHns 1
34. 2x% — 7x + 3 et6vrg) LHGQT(H Sy 1
x = % ,3 2
35. FxF=-1-2k 1
iy efensufletr revorevoreme) = V5 1
Seng Glamenaera 6T (:/—é, 0, \_/—é) 1
36. Jim : ;%3 2
-2+
=2 1
Note: One can solve the problem by using L Hopital Rule.
37. A = mr? 1
dA = 2nr dr 1
=047 1




/3
f secx tanx
38. 1+ sec?x
0
2 p X
= j z__ [tan™1Zz] 2
1 z2 L
1
= tan™1(2) —% 1
39. * oLengl , R- 67 Ligl 9iemL6| GLnMIETETS. 1
3+ () =3+ () +2(%) -7 !
15/ 15 15
_-ee 1
15
40. x+4Dx+1D)+@+2)y+1)=0 2"
x2+y2+5x+3y+6=0 1
ugH — IV
Q.NO CONTENT MARKS
41. () A=0 3
Sirmoflssr efdlemw LweTUHSS Geors) 2
LI
41. (=) f'(x) = 24x5 — 24x3 1
f (x) = 120x* — 72x? 1
f'(=1)=f"(1) =48 1+1
~ f(x) eteary &MIINEG QL EpaMHS fmio wEHLEeT —1 wnmid 1 1
& yeraflsafled Hlenl&@t.
42.(9) lx +iy+i| =|x+iy—1]| 1
2+ (@y+1)2=(x—-1)%2+y? 2
x+y=0 2




260608

f(X) + fla— X)
a
f fla—x)
= dx .
) F@=0+7( 2
a
=fdx 1
0
I = 1
2
43. (=) ¥
A é Gamymu euemILULLD
:
Al 1
R > ; = X
o,o)l
S(—Jio) ) v
pemest (0,0) 1
a=+2 1
y? = —4\2x 2
|06V
43. ( —/3
b cot™1(1) + sin~? (TJ_> — sec™}(—V/2)
_r_m_3m 3
4 3 4
__ >
6
44. () TT 6 _b
1
a+c=152x10° 1
a c¢=945x10° 1
2¢ = 575 x 10° 1
fluey @ wHEDTEH GNusHH@ELomer Grmbd = 575 X 105 W 1




44. (ay)

Gamymyu 6mITLILLD

OP = cosAl+sinAdj

0—Q>= cosBi1—sinBj

L& (LpsiTem LGS 2
45. (9) d=20+2j+k
b =9+ 3] + 6k 14141
U =20+ 6]+ 6k
oS Sler GleusLim eLoerLm(h 2
7=(1-3s)(20+2]+k)+s(9+ 3] + 6k) + t(2i + 6] + 6k) -
(D)vevg)
SeTSHHT Siitedler gwerur(® 3x + 4y —5z2—-9=0 |
LIRY:
45 (@ my =2, mz—% 1+1
tanf = — 2"
3
= -1(_Z 1
6 = tan (4)
46 (o) (i) P(X<3) =§ 1
(if) P(2<X<4)=% 2
(i) P(3<X)=1 2

D606V




46. (91) y 4

3x—2y+6=0 G MU  eIULLD

\4

3x+6 3x+6

2

dx

dx + f_lz

47.(9) dy dx
1+y2 1+x2

f dy _J‘ dx
1+y2 ) 1+x?

tan~ly =tan"lx +c¢

TRV |
47. (=) | » q r|qor|pAqpo2(@-o1) | (PAQ) T

T| T | T T T T T
T| T F F T

T F | T T F T T
T F F T F T T
F| T | T T F T T
F| T F F F T T
F F | T T F T T
F F F T F T T

p=>(@->r)=p@Aq)>r

te:i) T e rde of rows and columns need not be same as in
the scheme
a aen h aa to r forh
table.




